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2173 %% IR — He says to him; Fence it!

Overview

The X072 of 07137 NX M is discussing a case where a dividing wall between
a vineyard and a grain field (that had different owners) was breached. There
is then sufficient cause to be concerned about 2°X?>, since the vines and
grain are immediately adjacent to each other. The Xn>>72 states that he tells
him to repair the breach, and if he repaired it and it was breached again, he
should tell him again. If he showed no interest in repairing, then he is liable
for any damage that is caused if there is an actual 2°X?> M0°X. It is not clear
in the Xn>72, who is told to repair the fence. In addition it would seem that
both the 075771 9¥2 and the 77wn Hv2 should be jointly responsible to build the
fence, since each one is contributing equally to the potential 2°X7> MOX.
Why is only one party required to repair the fence? Indeed if someone is
required to repair the fence why the need to tell him; especially twice?!
mooIn will be discussing these issues.

29577 ya5 wie — The explanation' of the phrase ‘He says to him’; the
word ‘him’ refers to the owner of the vineyard. It is the responsibility of the va
0757 to repair the breach in the dividing wall. The reason the 0737 %¥2 is required to
repair the wall and not the 77wn %¥3, even though seemingly each one is causing the
other’s field to be come 2°RY3, is -

radt i 2%y — for he (the 01077 Hv2) is considered the aggressor. The reason the
01277 Yv2 is considered the P12 as opposed to the 77w Hv1 is because —

POTTTY 19ARY NAR YaaRT — The four cubits which the o' said that one is
required to distance himself from the boundary of his neighbors property — [the
mwn there states that one who plants trees on his own property must distance himself
from his neighbor’s property four N1 from the property line™] -

29577 N2y 97w X7 — that is on account of the work required to cultivate
the vineyard®.

(%5 77) TAPD "W P12 J7ANTS — As the X123 states later in the second p=s. 1t
was customary to plow underneath the trees for a distance of four M\ radius, from the
trunk of the tree, to cultivate the soil underneath the tree. If one were to plant his tree
adjacent to the property line, there is concern that he may bring his plow into his
neighbor’s property, which he has no right to do. Planting a tree near the property line is

" moon is negating s""w1 explanation that it is the 27371 Yv2 who is responsible to rebuild the wall on
account of o°X?3. (Since 07377 NTAY is MK '7 it is as if my 073 extends an additional NX '7 into the 77w
1297 and is causing the 0°X?2.)

* The n"2 emends this to read: X¥77.

? Perhaps that is why it is referred to as 27571 n¥’mn; since it is the obligation of the 27371 %¥2 to erect this
axonn.

* The term 0137 M7ay is to be understood to include any type of tree that requires cultivation of nmx '7.
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considered an act of aggression. He is a P>tn. However if there is a dividing wall between
the properties, he may plant trees right up to the wall. There is no concern that he may
take his plow into the other property since there is the dividing wall. If however the wall
is breached, the concern of 075:1 nT1ay returns. It is the obligation of the 17°X7 H¥2 to repair
the wall, otherwise he is a >, since his tree is within NX '7 of his neighbor’s property,
which is forbidden. In our Xn>>12 of 0757 n¥°nn, the 01377 92 planted his vines up to the
property line since there was a dividing wall between him and the 77wn ¥3. Once the
wall was breached, it became the duty of the 07377 %¥2 to repair the wall as just explained.
Therefore as long as he does not repair the wall he is considered the 1 and any resultant
damage caused by his negligence to repair the wall is his responsibility”. The 01371 53,
therefore, is also responsible for any damage of 2°8%> caused by his vines, since he is the
1.

mMooIN anticipates a possible difficulty:
(2,75 2, A7) JAPR IMRPT S0 527 ORI — and even according to oY "1 who

later states concerning the following case: The mwn states that one must distance a
tree twenty five MK from his neighbors pit; so that the roots of the tree do not eventually
weaken the pit. If the tree was planted after the pit was dug, the owner of the pit has the
right to chop down the tree (provided he pays for the tree). *01 " is of the opinion that
even if the pit preceded the planting of the tree he may not chop down the tree, for the
owner of the tree has every right to plant a tree on his own property. *07° "7 maintains that

YARY DR PIITTY PIan YW — it is incumbent on the injured party to distance

himself. If the victim does not want to suffer let him dig his pit where no one will be
able to weaken it. It would seem that °"3 would not agree to the miwn which states that a
tree must be distanced from the property line four mnX. According to *" one should be
able to bring his tree to the property line, since he is currently not doing any damage. The
two cases seem very similar. Md0I1N maintains however that even if we agree that prin oy
P nn9, nevertheless the ruling of the Xn»12 (and the 7wn of NNk '7) is still valid. The
reason is —

(2,75 97) 72PY WK 27 KT — for WK a7 said later in the X3 that —
79997 97932 9910 937 77 — that o1 '3 agrees that if the damage is done with

his arrows, then it is p>n177% P> 9. One may not shoot arrows from his own M and
damage objects in his neighbor’s mw~. Any case which is considered %°7 >3, 01 '
agrees that we do not say %Y nR 1% proaa 9. The case of the tree and the pit is not
considered 7°7°7 >3, When the tree is being planted there is no damage to the pit. The
damage will be later, and will happen by itself without any involvement of the 17°&7 Hv2.
In our case of 2797 nMav, however, it is considered 797 >7°a. The 79°X7 %va will
physically take the plow and bring it into his neighbor’s field. In this case it is considered
7977 >7°) and "0 "M will agree that you must either distance yourself m»X '7 or build a

> The responsibility of the 27371 %¥2 extends even into an area for which originally he was not solely
responsible. The 07371 v2 had to build the wall on account of 0157 NT12Y not for o°X73. Nevertheless he is
responsible not only to limit the damage caused by 073i71 n712v, but even for the damage caused by the
ensuing o°X? MO°K, since he is considered the P 1. This liability for the o°k?5 Mo°R may be considered X17
1737 (as opposed to his responsibility to build the fence).
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dividing wall. When that wall is breached the 12°X77 Yv2 reverts to being the P, and is
required to repair the wall.

moon addresses now the issue of the requirement that the 07577 Hv2a be told (twice!) to
rebuild the wall.

73 W IR upPl T PIIXY 11929 %IRY — and the "' says that the reason
the Xn>>12 uses the expression 1173 1 "2R' — ‘he says to him rebuild the
fence’

=737 2991 "np 891 — and the Xn™12 does not say that ‘he is obligated to

repair the fence’. Seemingly it should have said he is obligated to build the fence. We
rarely find this expression that the victim needs to remind the aggressor of his duties.
mooin will explain that here the 11 is required to remind the P11 —

2 Mne R oY — for here, it is required to warn the P
=173% 32 1077 X% a8 — and if they did not warn him to repair the fence

NPANR2 297 1R — the P12 is not liable for the damages incurred on account
of the °0°X3 MoK

1 ¥pl °2i7 — and that is also the reason that he mentions —

2173 92 WIN 77XD1 9107 N — two times; ‘if it was breached he says to him
fence it’! The reason the Xn12 mentions it twice is because if he repaired it once, and it
was breached a second time, then —

IR9DIWwD W avd X — even the second time that it was breached —
NINT® IR — it is required to warn the p°m. The initial warning the first time,
when he subsequently repaired it, is not sufficient —

YR B MTA® avn nenah Mao wRw — for the potn does not deem it
appropriate that he is required to repair it every time. In order for him to be

liable for o°&%2 T0°XR after he repaired it once and it broke, he must be warned a second
time. Otherwise he is not liable.

nRbw ays axen — and if it was breached a third time; after he was twice
warned and rebuilt twice —

YR 9D IMANSD TN AR PR 1A Xpoon — the v'' is doubtful, whether it

is required to warn him every time; otherwise there is no liability on the part of
the 0577 Hva.

5157 9IN2 SAD KRW IR — or perhaps twice is sufficient; He was warned already
twice, He realizes that it is his continual obligation to have the wall repaired

% It would seem from mooin that if he did not warn the 07371 %¥2 to repair the fence, it would still become
0°X?2; however the 07377 %¥2 would not be liable to pay for the damage. The reason he is not 211 is because
the damage inflicted by the 07377 %¥1 is considered only "3 (see previous Nv0IN), [since he is not causing
the damage directly]. One is liable for the damages of *»73 (according to some opinions) only if it is done
7°12. Therefore he has to be told to rebuild, otherwise the 013771 v assumes that it is not his responsibility
to rebuild. He is considered a 23w2 173,
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2N 2 MnaR R XY — and there is no requirement to warn him
further.

mooin offers a different explanation for the redundancy of 2173 1% K X901,

was% an 11927 — and the n''1 explains

3% N vpl Y3797 — that the reason he mentions twice the requirement to tell
the 01277 Y2 to repair the fence

DINRR MBS WO ARY JYMwRY — to teach us that if there was an
additional growth of a two hundredth amount —

SIWRD X812 0 % P2 — between what was added during the first
breach

IR %P1 OO0 » 192 — and between what was added during the

second breach. During each breach individually it did not grow a sufficient amount to
equal a two hundredth, but if the growth during both breaches were to be added together
it would equal to a growth amount of a two hundredth (or more) —

"ERY PouRn 8T — they cannot be combined to prohibit the produce.
pua TR AWK — and from after the repair of first breach the

additional growth of the first breach becomes nullified. After each repair, if
during that breach it did not grow o°°nX», then that growth of 0°X%5 becomes 9v3, as if it
never happened. By the next breach we start estimating anew how much it grew during
the present breach. If at this new breach, less than o»nX»n grew, it is again disregarded
after the current repair. It is only 2°8932 M0R if it grew 0»nxn during the period of a
single breach.

(8,70 N7 naw) STRIN TIA2 PNDAY (owy 3,7 A7 xep x33) KA DT NN — And I have
dealt with this at length in 8%p %1377 299 and in 7@K 7723 PHs.

Summary
In the case of 7¥91W 01277 N¥°17 it is the obligation of the 01571 9¥2 to rebuild

the wall. The 01277 %¥2 is considered the »1n, since he is not permitted to
plant within nX "7 of the boundary line, unless there is a dividing wall. "
°0Y who normally maintains that %Y nR P°1772 P1°17 9V also agrees that the
responsibility lies with the 01571 va, for since the concern is that the 5va
07277 will plow in his neighbors field to cultivate his 073, that is considered
A R DY

Nonetheless, unless the 072771 Hv2 is explicitly warned to rebuild the wall, he
will not be 21 for the o°8%> 7oK, since he does not realize that it is his
obligation. Indeed he must be warned even a second time (after the original
breach had been repaired and was broken again). We cannot assume that the
007 Yva realizes that it is his ongoing responsibility. Concerning whether he
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must be warned a third time N80 is unsure, perhaps twice is sufficient to
have the 01277 Hva realize his responsibility.

Another explanation why the Xn>72 mentions the warning twice, to inform
us that the rule of o> nR» 7°017 is 2°R9, refers only to a 119017 of 0»nXkn during
one breach period. We cannot combine the growths of two breach periods
for the amount of D>nXk» 7°017.

Thinking it over

1. The Xn»2 of 2757 nx°nn can follow the view of °01 ", since it is
considered 797 1%, We also derive from 01377 n¥ nn that 1" is ' X7 PRT
"37. It seems contradictory that it should be both 71°°7 *7°3 and %737 R1>7!

2. If we were to assume that one is required to warn the 07571 2¥2 on the third
time also, what would be the 17 concerning a fourth, fifth, etc. time?

3. How does the n"1 derive from the X002 that we do not combine the 7190171
of each ¥791?

4. What would the n"9 maintain is the 17 when the 2137 %¥2 was warned
only once, and it was 778793 a second time; is the 2°°1 2757 Sv2?

7 See previous X107> 7"7 Moo and also footnotes # 5&6 in our M.
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